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8H22H (K) #%F 2

2 HA4X Ef | Sie AR ETEN Wi FES
BEHN 8E =5 5kg ) kg | 1,000 EiE
EHN 102 =41 5kg & kg 900 EiE
7o 20/21 S 5kg e kg | 1,100
754 2R dbisE | 11/14kg a kg 850 EE
175 3B =2F 5kg ) kg 700 EiE
hu# 3kg =i 1A 8 kg | 1,450 A BF
A M TR 5E R 4kgH5 i kg | 2,400 ETE EX BEHYHY
VAR #930/32 | FE 5kg & kg | 1,700
VAP 3kgE =i 1A i kg | 2,600 TE B
VAP 2E =i 4/5kg 5= kg | 2,300 TE BE
B 3/4kghH = 1A & kg | 1,400 N
=R 2B = 4/5kgE i kg | 1,500 N
B 2kg R 1A & kg | 2,400 N
TATHA 2/5E = 3kgh 78 kg | 3,400 ETE JEX
= 2kg = 1A B kg | 4,000 EFE FX
= 1.5kgUP 55 1A 5= kg | 3,800 ETE JEX
ES<Y 2 1 2/3kg ] kg | 1,900 ETE JEX
24 2/3& T 3kgE #a kg | 2,200 EE JEX
ARXF 2.2/2.8kg &5 1A ] kg | 3,400 ETE JEX
EEYINE BIE 500g b P | 2200
M7 102 FEE P P | 1,200
BE7 L 108 BME 1kg P P | 3500
HELoY KR 100g P P 500
Ty H #9300g | dbiEE & kg | 1,800




